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EFETHETRAOR
FRERERAOGIEAZEHZED) %*D2£E6H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 296 366 401 767
EARI1TH 1,040 1,179 1,299 2478
EARI2TH 1,213 1,090 1,431 2,521
A R ET 2,273 2,339 2,569 4,908
BERT1TH 522 535 584 1,119
B ERT2TH 412 428 471 899
B ERI3TH 313 356 343 699
B ERTATH 534 492 535 1,027
B ERSTH 829 919 921 1,840
I ER6TH 367 400 423 823
HiF = HT 552 626 656 1,282
45 KHT 463 539 561 1,100
HHT 1,009 1,137 1,273 2,410
BEHT 58 59 65 124
A K BT 624 730 743 1,473
7 HT 442 453 462 915
RICET 472 513 542 1,055
FORHET 202 204 234 438
RFHT 212 215 248 463
KHET 373 349 395 744
KET1TH 232 251 287 538
XKET3TH 285 338 318 656
XETATH 888 827 1,046 1,873
fit] LLI BT 2,367 2,781 2,877 5,658
JE LT 972 1,109 1,219 2,328
EHERT2TH 297 437 435 872
EHERISTH 430 537 553 1,090
EHERT4TH 371 443 477 920
EHERSTH 331 392 459 851
EHERT6TH 206 275 264 539
EHERT7TH 163 244 252 496
=Y:i 333 350 397 747
8 [ T 1,603 1,494 1,762 3,256
=i ET 507 545 623 1,168
2l 3t BT 472 606 570 1,176
N =15 100 120 124 244
+HEFRT A 634 649 710 1,359
L EFHTER 865 762 873 1,635
L HAET 2,106 2,345 2,449 4,794
LFH¥ABT1TH 73 123 121 244
LH¥\ET2TH 157 160 181 341




BT 4 HH 5 £ i
LH¥AET3T B 155 155 179 334
L¥AET4 T B 155 165 196 361
LFEISTH 213 272 294 566
I == HT 209 217 245 462
JOSFET1TH 553 531 564 1,095
JNsFET2T H 548 541 565 1,106
JO=fET3TH 415 438 404 842
M=rET4T H 1,103 1,120 1,154 2274
I S5k T 587 608 664 1,272
I=F5di) 233 219 267 486
Jt B BT 30 38 40 78
E[d:) 406 355 355 710
fHZaE T 802 923 977 1,900
FHRHET 78 88 98 186
1 2 FF T 369 427 457 884
BEFE1TH 88 112 121 233
BEFE2TH 285 334 344 678
T EHT 131 151 149 300
/N BB T 3,071 3,149 3,373 6,522
1R HT 259 290 305 595
YEZF HT 747 745 805 1,550
EXBI1TH 273 246 282 528
=/ LLIHT 224 164 127 291
Hh ek HT 18 18 5 23
T A EHET 10 12 10 22
THHEE1TH 714 677 729 1,406
THHEE2TH 538 583 569 1,152
THHEESTH 784 795 928 1,723
TEHE1TH 194 193 189 382
TEHRI2TH 814 777 886 1,663
TEHRISTH 160 160 177 337
TEHRI4ATH 85 89 96 185
TEHRISTH 230 244 259 503
THAHET 665 712 747 1,459
THET1TH 354 360 363 723
THET2 T H 461 451 482 933
TH¥BISTH 201 202 235 437
TET4TH 158 157 187 344
HTAEHET 24 23 9 32
T 189 190 192 382
#8)11 BT 44 46 55 101
KT HT 305 328 352 680

e K HT 1,696 1,743 1,905 3,648

27588



HEZ HH 5 £ i
FSIED 263 322 318 640
XLAT1TH 862 827 964 1,791
XLAT2T B 315 348 361 709
X#ILET3TH 148 160 168 328
1 [ BT 49 66 80 146
hHET1TH 360 379 413 792
hHET2TH 450 482 529 1,011
hHBEI3TH 437 520 528 1,048
niEld:) 254 246 288 534
th 2 JEHT 232 215 252 467
ch T 128 130 168 298
FRAHT 768 885 891 1,776
DiX /N 882 905 1,045 1,950
75 K ERET 784 986 1,022 2,008
75 2 [N HET 1,653 1,849 1,984 3,833
A 806 784 886 1,670
SFHEAT1TH 542 472 544 1,016
SFHEAT2TH 401 395 454 849
$FHEAI3TH 210 227 236 463
| BT 427 481 518 999
YHET1T B 374 480 489 969
HET3T B 357 399 442 841
HET4 T B 117 113 140 253
J\ & T 988 1,088 1,140 2,228
J\HHT 170 219 223 442
+ A ERT 268 326 357 683
T A HT 2,217 2,288 2,447 4,735
THB1TH 24 21 21 42
T4HB2TH 1,457 1,381 1,370 2,751
T4HBI3TH 196 176 183 359
THHB4TH 370 313 377 690
T4HHB5TH 966 710 980 1,690
THHBI6TH 225 235 272 507
THRI7TH 359 396 433 829
T4HBISTH 392 423 434 857
THBIOTH 387 457 508 965
T4WB13TH 313 357 398 755
AR NBHT 1,989 1,742 2,008 3,750
HARRHET 1,336 1,244 1,253 2,497
HEARK/ERET 287 376 391 767
HEARICEHT 165 171 181 352
o NEL) 135 124 136 260
Z AR hHET 202 228 260 488
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HEZ HH 5 = 5
FHARAKHET 439 461 502 963
H AR EHT 325 353 389 742
EHARE)IIET 292 279 302 581
e N=TN ] 109 119 135 254
FH AR JTHT 105 100 117 217
EARERHE 672 575 673 1,248
B K BRHET 386 402 404 806
Edsa] 897 918 1,025 1,943
BEFET1TH 765 744 769 1,513
BEFET2 T H 598 603 689 1,292
BRFEIST H 350 414 410 824
AIFFRT1T B 420 381 435 816
AIFTET2T B 597 602 671 1,273
AIFTET3T B 591 692 738 1,430
A HT 188 217 199 416
H_LH 216 279 300 579
NEL] 815 811 875 1,686
ERL 725 899 917 1,816
= HHE 1,725 1,949 2,056 4,005
HEXHRET1TH 580 654 672 1,326
HETIRET2TH 524 615 649 1,264
HLAREISTH 293 375 376 751
P fx T 317 371 400 771
mLERI1TH 1,172 1,142 1,296 2,438
mERI2TH 850 983 1,078 2,061
FA T 1,328 1,400 1,567 2,967
= RITET 530 517 557 1,074
= AHT 349 281 353 634
AR#HT 10 9 4 13
=) 497 578 527 1,105
SHA1TH 709 643 796 1,439
S HHET2TH 405 443 467 910
aHEI3TH 851 754 918 1,672
S HET4TH 774 655 871 1,526
E& T 1 1 0 1
J\BRET1TH 210 274 267 541
J\BRET2T B 222 239 235 474
J\BRET3T H 235 291 298 589
1T HT 291 433 421 854
FHEIBRT1 TH 137 164 174 338
FHaEIRT2TH 301 435 460 895
FIaTET3T B 11 25 15 40
ENOER1TH 14 21 20 A1
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HEZ HH 5 £ it
FEOER2TH 0 0 0 0
EOER3TH 21 19 2 21

HWEEt 88,288 | 92,831 | 100,614 | 193445

5.5



